(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (A.T.K.T. Exam.)

Repeater

PROGRAMME: Bachelor of Science (Information Technology) (B.Sc. (IT))

EXAMINATION: February - 2025

SEMESTER: I

Sr. No.	Seat No.	Name	' '			rative ammin		ital ronics		gital ronics	' '	rating tems		rating tems		rete matics							Total Marks		Credits Earned	· ·	Gr- ade
				g	g (Pra	ctical)			(Pra	ctical)			(Pra	ctical)			(Prac	ctical)			(Prac	ctical)	.,,,,,,,,				
			1A	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	- 2				
			10/25	30/75	0/0	20/50	10/25	30/75	0/0	20/50	10/25	30/75	0/0	20/50	10/25	30/75	0/0	20/50	10/25	30/75	0/0	20/50				+)	
1	FBSCIT19102	SHELIYA NAAFE SOHEL FARZANA	\$10	30		\$35	\$14	\$50		\$20	\$10	\$30		\$22	\$20	\$39		\$27	\$10	\$47		\$26	390	118	20.0	5.90	С

Boban lekar

I/c. PRINCIPAL Valia C.L. College of Commerce & Valia L.C. College of Arts, Angheri (W), Mumbai-400 053.

VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL COLLEGE OF ARTS

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (A.T.K.T. Exam.)

Repeater

PROGRAMME: Bachelor of Science (Information Technology) (B.Sc. (IT))

EXAMINATION: February - 2025

SEMESTER: I

Sr. No.	Seat No.	Name	"	ammin nciples		ammin nciples		l Logic		l Logic nd		amenta of	ı	amenta of				utation gic and	Tech		ı	nnical	Total Marks		Credits Earned		Gr ad
			1 -	th C	_	C (P)	Applic	ations	Appli	cation		base	1	base		crete		crete	ion S			tills (P)	Marks	CG	Latrieu		au
			IA 10/25	SEE 30/75	1A 0/0	SEE 20/50	IA 10/25	SEE 30/75	1A 0/0	SEE 20/50	IA 10/25	SEE 30/75	IA 0/0	SEE 20/50	IA 10/25	SEE 30/75	IA 0/0	SEE 20/50	IA 10/25	SEE 30/75	1A 0/0	SEE 20/50					
2	FBSCIT23001	AHIRE TUSHAR BALASAHEB MUKTABAI	\$18	\$30		\$20	\$16	30		\$36	\$17	\$30	0.70	\$20	\$10	\$30	O/O	\$24	\$16	14	0/0	\$42	353	102	18.0		F
3	FBSCIT23029	JAISWAL KRISH KUMAR ANIL KUMAR RANI	\$14	\$30		\$20	\$21	30		\$35	\$10	30		\$33	\$10	\$30		\$48	\$17	1		\$27	356	110	18.0		Ī
4	FBSCIT23041	KHAN SHAHID ALI AZGAR ALI SHAMIM	\$12	\$30		\$29	\$15	AB		\$36	\$12	\$30		\$20	\$10	\$30		\$30	\$16	\$30		\$35	335	108	18.0		
5	FBSCIT23062	/ PATIL SHRAVANI SAHEBRAO SWATI	\$14	\$30		\$21	\$25	30		\$37	\$20	\$30		\$23	\$10	\$30		\$28	\$17	\$30		\$37	382	120	20.0	6.00	0 1
6	FBSCIT23068	PRAJAPATI SHIVAM DEEPCHANDRA KUSUM DEVI	\$12	\$30	B3K 60	\$37	\$15	\$31	. 23.	\$36	\$20	\$30	* 64	\$20	\$10	\$30	*): • •):	\$20	\$15	12		\$20	338	98	18.0	12472 2472	
7	FBSCIT23069	RAJPUROHIT HARISH NARPAT SINGH KIRAN	\$18	\$30		\$38	\$15	32		\$30	\$15	\$30		\$20	\$10	\$42		\$25	\$17	\$30		\$42	394	126	20.0	6.30	5
8	FBSCIT23070	/ RAWAT HARSHITA PRAKASH CHANDRA SHANTA DEVI	\$14	\$30		\$22	\$25	30		\$33	\$16	\$30		\$20	\$10	\$30		\$24	\$10	1		\$27	322	94	18.0		
9	FBSCIT23080	SHAIKH FARDEEN MOHD HUSAIN MEHBOOB BEE	\$12	\$30		\$32	\$15	30		\$33	\$17	\$30		\$32	\$10	\$30		\$20	\$17	\$30		\$37	375	120	20.0	6.00	0 1
10	FBSCIT23081	/ SHAIKH JUWAYRIYAH ABDUL RAFIQ RUBINA	\$12	\$30		\$27	\$23	35		\$30	\$25	\$30		\$26	\$10	\$30		\$21	\$16	\$40		\$27	382	118	20.0	5.90	0 0
11	FBSCIT23083	/ SHAIKH MEENAS FAKRUDDIN MOHADIBEE	\$14	\$30		\$40	\$19	\$30		\$36	\$24	\$30		\$27	10	\$38		\$37	\$17	\$36		\$40	428	140	20.0	7.00	о в
12	FBSCIT23090	SHAIKH SOHAIL MOHAMMED QASIM NADIYA ANJUM	\$16	\$30		\$24	\$23	30		\$37	\$17	\$30	0	\$20	\$10	\$30		\$37	\$16	\$30		\$43	393	124	20.0	6.20	3 1
13	FBSCIT23098	SURYAWANSHI RITESH PRASKASH SAVITA	\$14	\$30		\$27	\$22	32	7	\$36	\$15	\$30		\$28	\$10	\$30		\$24	\$16	\$36		\$42	392	124	20.0	6.20	O E

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (A.T.K.T. Exam.)

Repeater

PROGRAMME: Bachelor of Science (Information Technology) (B.Sc. (IT))

EXAMINATION: February - 2025

SEMESTER: I

Sr. No.	Seat No.	Name				ammin nciples	Digita aı		l .	l Logic		menta of										hnical	Total Marks		Credits Earned		
			wi	th C	with	C (P)	Applic	ations	Appli	cation	Data	base		base		crete		crete				kills (P)		UG	Laneu		ade
				SEE	IA	SEE	31	SEE		SEE	111	SEE	171	SEE				SEE	IA	SEE	IA	SEE					
			10/25	30/75	0/0	20/50	10/25	30/75	0/0	20/50	10/25	30/75	0/0	20/50	10/25	30/75	0/0	20/50	10/25	30/75	0/0	20/50					
14		/ VISHWAKARMA MAHIEK RAJENDRA LALLI	\$12	\$30		\$27	\$23	30		\$30	\$18	\$30		\$27	\$10	\$30		\$22	\$10	\$30		\$37	366	112	20.0	5.60	C
15	FBSCIT23110	YADAV ADITYA DILIF SUNITA	\$12	0		\$21	\$18	\$30		\$36	\$15	30		\$25	\$10	\$30		\$20	\$10	\$30		\$22	309	90	18.0		F

BBanclekas

I/c. PRINCIPAL

Valia C.L. College of Commerce & Valia L.C. College of Arts, Andheri (W), Mumbai-400 053.

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (A.T.K.T. Exam.)

Repeater

PROGRAMME: Bachelor of Science (Information Technology) (B.Sc. (IT))

EXAMINATION: February - 2025

SEMESTER: II

Sr.	Seat No.	Name		een	een		proces	Micro	proces	Num	erical	Num	erical	Ob	ject	Ob	ject	W		/eb	Total		Credits	SGPA	Gr-
No.			Com	puting	puting ctical)		or ecture	_	or ecture	A Stati			nd sticai		nted		ented ammin		ammin		Marks	CG	Earned		ade
			ΙΔ	SEE	 SEE		SEE		SEE	_	_	_	SEE	_			SEE	<u> </u>	SEE	 actical)					
				30/75	 20/50			.AL.			_							10/25		 SEE 20/50					
1	FBSC T19102	SHELIYA NAAFE SOHEL FARZANA	\$10	\$30	20	\$10	\$30		20	10	4		20	\$10	\$30		20	\$10	\$30	20	274	72	18.0		F
2	FBSCIT21098	YADAV AKASH SURESH GAMALA	\$20	\$30	\$40	\$14	\$30		\$20	\$18	\$41		\$20	\$16	\$30		\$22	\$14	30	\$25	370	108	20.0	5.40	С

Bamlekar

I/c. PRINCIPAL

Valia C.L. College of Commerce & Valia L.C. College of Arts, Andher (W), Mumbai-400 053,

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (A.T.K.T. Exam.)

EXAMINATION: February - 2025

Repeater

SEMESTER: II

PROGRAMME: Bachelor of Science	(Information Technology) (B.Sc. (I	Γ))
--------------------------------	------------------------------------	-----

	SEE	ks CG	Credits Earned	10.000 (100.01)	A Grade
IA SEE IA SEE	SEE 20/50				
3 FBSCIIT23029 JAISWAL KRISH KUMAR ANIL \$16 4 \$40 \$19 2 \$20 \$20 31 \$36 \$15 19 \$33 \$11 30	0 20/50				
3 FBSCIIT23029 JAISWAL KRISH KUMAR ANIL \$16 4 \$40 \$19 2 \$20 \$20 31 \$36 \$15 19 \$33 \$11 30					.1
		6 9	14.0		F
4 FBSCIF23036 / KALSEKAR VIDULA PRAVIN \$16 \$37 \$20 \$18 \$30 \$34 \$19 \$30 \$34 \$19 31 \$42 \$12 32 RAJASHRI	\$25 39	9 12	4 20.0	6.20	0 B
5 FBSCIF23041 KHAN SHAHID ALI AZGAR ALI \$15 \$30 \$27 \$18 30 \$41 \$17 \$30 \$33 \$16 \$30 \$22 \$18 \$30	\$20 37	7 11	4 20.0	5.70	0 C
6 FBSCIF23055 PADWAL MANAV SANTOSH \$20 \$30 \$48 \$16 30 \$36 \$17 \$30 \$32 \$21 \$30 \$50 \$20 \$30	\$27 43	7 14	2 20.0	7.10	0 B+
7 FBSCII 23057 / PAL NEHARIKA PINTU BABITA \$20 \$50 \$24 \$18 \$30 \$34 \$19 \$30 \$31 \$15 \$30 \$28 \$16 32	\$32 40	13	20.0	6.50	0 B
8 FBSCIF23062 / PATIL SHRAVANI SAHEBRAO \$20 \$37 20 \$18 \$30 \$34 \$20 \$30 \$22 \$14 36 \$23 \$19 \$30 \$WATI	\$20 37	3 10	3 20.0		
9 FBSCII 23086 SHAIKH MOHD AFFAN JABIR \$23 \$43 \$31 \$16 30 \$36 \$16 \$30 \$33 \$23 \$30 \$27 \$22 \$30 MEHPARA	\$20 41) 13	20.0	6.50	0 B
10 FBSCIF23090 SHAIKH SOHAIL MOHAMMED \$20 \$30 \$20 \$16 2 \$36 \$16 \$30 \$33 \$12 \$30 \$32 \$16 \$33 QASIM NADIYA ANJUM	\$23 34	9 108	3 18.0		F
11 FBSCIF23100 / TANDEL JANHAVI BHAGVAN \$21 \$30 \$20 \$22 34 \$36 \$22 \$39 \$37 \$21 \$30 \$25 \$21 \$30 NIRMALA	\$20 40	3 13	20.0	6.50	0 B
12 FBSCIF23110 YADAV ADITYA DILIP SUNITA \$21 \$30 \$20 \$15 3 \$32 \$17 \$39 \$27 \$15 30 \$22 \$15 \$30	\$20 33	6 9	3 18.0		F

Valia C.L. College of Commerce

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (A.T.K.T. Exam.)

Repeater

PROGRAMME: Bachelor of Science (Information Technology) (B.Sc. (IT))

EXAMINATION: February - 2025

SEMESTER: III

Sr.			Du	thon	Due	thon	D	-1-	D		0		0		T 5.		1 .		<u> </u>							T	_
No.	Seat No.	Name	1 "	thon	,	thon		ata		ata	1	puter		puter		base		abase		olied		bile	Total			SGPA	√ Gr-
INO			Progr	ammin		ammin	Struc	ctures		ctures	Net\	vorks		vorks					Mathe	ematics	Progr	ammin	Marks	CG	Earned	4	ade
				g	g (F	ract.)			(Pr	act.)			(Pr	act.)	t Sys	stems	t Sy:	stems			g Pra	actical	60.				
			IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	IA	SEE	1A	SEE	IA	SEE	IA	SEE	IA	SEE					
		Yan Yan	10/25	30/75	0/0	20/50	10/25	30/75	0/0	20/50	10/25	30/75	0/0	20/50	10/25	30/75	0/0	20/50	10/25	30/75	0/0	20/50	CC.				
1	SBSCIT22027	/ KASBE PRASHALI BALU PRACHITA	\$10	\$30		\$20	\$10	\$30		\$30	\$10	\$30		\$20	\$10	\$30		\$20	\$10	41		\$21	322	92	20.0	4.60	D
2	SBSCIT22028	/ KAVANDAR ARUNA PARSURAM AMSAVENI	\$10	\$30		\$28	\$14	\$56		\$40	\$17	\$30		\$22	\$10	\$30		\$25	\$24	54		\$20	410	124	20.0	6.20	В
3	SBSCIT22031	KHAN MOHAMMED UMER MULLANA HASAN	\$10	30		\$22	\$10	30	-	\$34	\$11	\$36		\$20	\$10	\$30		\$42	\$14	30		\$22	351	102	20.0	5.10	C
4	SBSCIT22032	KHAN MOHSIN REHMAT PARVEENBEGUM	\$10	34		\$26	\$10	\$30		\$24	\$11	\$30		\$24	\$10	\$35		\$29	\$14	\$30		\$20	337	96	20.0	4.80	D D
5	SBSCIT22046	/ MOHITE KRUTIKA RAHUL DEEPALI	\$10	AB	3 507	\$20	\$10	\$30	* •0•	\$34	\$16	\$30	#84 (85)	\$20	\$10	\$30	#IC+ +:	\$20	\$21	\$30	ta ea	\$26	307	90	18.0		F
6	SBSCIT22048	NATH AYUSH JOYDEV APARNA	\$10	39		\$27	\$10	\$30		\$38	\$10	\$30		\$30	\$10	\$30		\$36	\$15	\$30		\$25	370	120	20.0	6.00	В
7	SBSCIT22081	YADAV AKASH SURESH GAMALA	\$10	\$35		\$26	\$11	30		\$37	\$11	\$31		\$20	\$10	\$47		\$26	\$10	\$30		*\$24	358	108	20.0	5.40	С

Bhanlebae

I/c. PRINCIPAL

Valia C.L. College of Commerce & Valia L.C. College of Arts, Andheri (N), Mumbai-400 053.

VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL COLLEGE OF ARTS

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (A.T.K.T. Exam.)

itti i Exami,

Repeater

PROGRAMME: Bachelor of Science (Information Technology) (B.Sc. (IT))

EXAMINATION: February - 2025

SEMESTER: III

Sr. No.	Seat No.	Name	Progra	hon ammin g	Progr	hon ammin ract.)		ata ctures	Stru	ata ctures act.)		puter vorks	Net	nputer works act.)		rating tems	Sys	rating tems act.)	App Mathe		Progr	obile ammin actical	Total Marks		Credits Earned	7	Gr- ade
			IA 10/25	SEE 30/75	1A 0/0	SEE 20/50	IA 10/25	SEE 30/75	IA 0/0	SEE 20/50	1A	SEE 30/75		SEE 20/50	IA 10/25	SEE 30/75	1A 0/0	SEE 20/50	IA 10/25	SEE 30/75	IA 0/0	SEE 20/50					
8	SBSCIT23014	CHAURASIYA SATYAM LAVKUSH SUNITA	\$23	\$30	0/0	\$48	\$21	\$30	0/0	\$43	\$21	\$44	0/0	\$36	\$12	\$30	0/0	\$43	\$10	13	0/0	\$45	449	146	18.0		F
9	SBSCIT23017	DALMEDA AARAV SUFAJ FLAVIA	\$10	30	Ľ,	\$20	\$10	30		\$20	\$10	\$30		\$20	\$10	\$30		\$20	\$10	\$30		\$20	300	80	20.0	4.00	D
10	SBSCIT23021	DHERE ARYAN MAHESH UMA	\$21	\$30	-	\$34	\$19	\$30		\$22	\$13	\$30		\$35	\$10	\$30		\$42	\$10	30		\$42	398	128	20.0	6.40	В
11	SBSCIT23026	GUPTA NIKHIL LALLAM REETA	\$19	\$30		\$31	\$19	\$30		\$20	\$12	\$30		\$32	\$14	\$34		\$36	\$10	45		\$25	387	122	20.0	6.10	В
12	SBSCIT23039	KHAN ABDULLAH MOTIN AFSHANA	\$24	\$30		\$22	\$21	\$30		\$20	\$11	\$30		\$31	\$14	\$30		\$44	\$10	10		\$20	347	100	18.0		F
13	SBSCIT23056	MANWAR RAVIKIRAN UTTAM PUSHPA	\$11	34	+ 200-2	. \$33	\$12	11	*158 *	\$20	\$19	\$30.	603 YOS	\$31	\$12	. 30		.\$20.	\$10	\$30		\$34	337	100	- 18.0	E-0 E-0	- F-
14	SBSCIT23074	SAKPAL YASH SANJAY SUNITA	\$22	\$30		\$41	\$19	\$30		\$22	\$18	\$32		\$34	\$12	\$30		\$28	\$10	42		\$24	394	122	20.0	6.10	В
15	SBSCIT23096	SHAIKH ZUHAYR MOHAMMED, IDRIS ALIYA	\$23	\$30		\$41	\$19	\$36		\$20	\$20	.\$44		\$36	\$12	\$30		\$41	\$10	15	-	\$45	422	136	18.0		F
16	SBSCIT23109	/ SUNESARA NOVEE ALI HUSSAIN SUMAIYA	\$21	\$30		\$21	\$20	\$30		\$42	\$15	\$36		\$39	\$14	\$30		\$34	\$10	30		\$44	416	134	20.0	6.70	В
17	SBSCIT23116	/ VISHWAKARMA KRISHNA PANKAJ SHIĽADEVI	\$20	\$31	119	\$43	\$19	\$30		\$42	\$12	\$32		\$35	\$12	\$30		\$20	\$10	30		\$30	396	128	20.0	6.40	В
18	SBSCIT24002	AHIRE TUSHAR BALASAHEB MUKTABAI	\$17	\$30		\$35	-\$23	34		\$24	\$18	32		\$25	\$13	\$39	>	\$22	\$22	30	Þ	\$37	401	126	20.0	6.30	В
19	SBSCIT24010	CHIKANE ABHISHEK BHAGWAN PRATIBHA	\$24	\$43		\$35	\$19	\$36		\$41	\$22	\$30		\$35	\$14	\$47	22%	\$33	\$18	65		\$39	501	168	20.0	8.40	Α (
20	SBSCIT24014	/ DEWALGUD MARIAMMA NINGAPPA DEVAMMA	\$24	\$30		\$35	\$20	32		\$27	\$18	\$30		\$30	\$14	\$30		\$32	\$19	\$30		\$40	411	134	20.0	6.70	В

VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL **COLLEGE OF ARTS**

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (A.T.K.T. Exam.)

Repeater

PROGRAMME: Bachelor of Science (Information Technology) (B.Sc. (IT))

EXAMINATION: February - 2025

SEMESTER: III

_			_		r -		_														_						
Sr. No.	Seat No.	Name	Progr	thon ammin g	Progr	thon ammin Pract.)		ata ctures	Struc (Pra			puter vorks	Net	puter vorks act.)	Oper Syst	rating tems	Sys	rating tems act.)		ilied matics	Progr	bile ammin actical	Total Marks	Sum	Credits Earned		Gr- ade
			1A 10/25	SEE 30/75	1A 0/0	SEE 20/50	IA 10/25	SEE 30/75	IA 0/0	SEE 20/50	10/25	SEE 30/75	1A 0/0	SEE 20/50	IA 10/25	SEE 30/75	IA 0/0	SEE 20/50	IA 10/25	SEE 30/75	IA 0/0	SEE 20/50					
21	SBSCIT24016	DHOBI DEEPAK SURAJ POONAM	\$13	\$30		\$34	\$16	\$30		\$20	\$10	30		\$25	\$11	\$30		\$25	\$16	4		\$20	314	90	18.0		F
22	SBSCIT24019	GODGENPALLI VENKATESH MALLESH MADHAVI	\$25	\$40		\$47	\$22	\$30		\$45	\$22	\$33		\$42	\$23	\$30		\$48	\$18	42		\$44	511	170	20.0	8.50	A
23	SBSCIT24025	HASHMI MOHD FARHAN MOHD SULTAN REHANA BEGUM	\$13	\$30		\$26	\$18	\$30		\$29	\$14	\$30		\$30	\$13	\$30		\$25	\$13	37		\$20	358	108	20.0	5.40	C
24	SBSCIT24031	/ JOSHI PRACHI HARISH BHAVANA	\$23	\$30		\$38	\$19	\$30		\$29	\$18	\$30		\$32	\$14	\$31		\$22	\$20	30		\$25	391	122	20.0	6.10	В
25	SBSCIT24038	KHAN SHAHID ALI AZGAR ALI SHAMIM	\$13	12		\$21	\$20	AB		\$47	\$10	12	×	\$25	\$12	AB		\$20	\$11	10	(4	\$28	241	62	10.0		F
26	SBSCIT24048	MISHRA RAJKUMAR MANISH SADHANA	\$23	\$30		\$43	\$23	30		\$44	\$19	\$30		\$46	\$20	\$30		\$40	\$24	30		\$28	460	152	20.0	7.60) B-
27	SBSCIT24050	PADWAL MANAV SANTOSH SAKSHI	\$22	\$30		\$27	\$21	30		\$47	\$15	\$30		\$40	\$15	\$30		\$28	\$20	30	- 3	\$46	431	142	20.0	7.10) B ₁
28	SBSCIT24052	/ PAL NEHARIKA PINTU BABITA	\$23	\$30		\$37	\$18	\$30		\$24	\$21	37		\$25	\$13	\$30		\$22	\$15	41		20	386	114	20.0	5.70	C
29	SBSCIT24055	PATEL VIN HASMUKH BHAVIKA	\$22	\$43		\$37	\$21	\$40		\$41	\$21	\$34		\$45	\$12	\$40		\$39	\$11	48		\$40	494	168	20.0	8.40	A
30	SBSCIT24060	PRAJAPATI ANURAG RAMKUMAR SUNITADEVI	\$21	\$33		\$32	\$18	\$37		\$25	\$17	47		\$32	\$12	\$39		\$22	\$22	\$39		\$25	421	134	20.0	6.70	В
31	SBSCIT24061	PRAJAPATI SHIVAM DEEPCHANDRA KUSUM DEVI	\$25	\$32		\$26	\$21	\$30		\$36	\$23	\$30		\$25	\$13	31		\$30	\$18	\$41		\$20	401	126	20.0	6.30	В
32	SBSCIT24062	RAJPUROHIT HARISH NARPAT SINGH KIRAN	\$23	\$30		\$48	\$20	\$30		\$26	\$20	\$30		\$45	\$18	\$30		\$27	\$22	16		\$45	430	130	18.0		F
33	SBSCIT24063	RAWAT SAGARSINGH CHANDANSINGH MEENA	\$21	\$37		\$27	\$18	\$37		\$40	\$18	\$32		\$28	\$15	\$30		\$45	\$12	30		\$20	410	132	20.0	6.60	0 B

VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL COLLEGE OF ARTS

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (A.T.K.T. Exam.)

Repeater

PROGRAMME: Bachelor of Science (Information Technology) (B.Sc. (IT))

EXAMINATION: February - 2025

SEMESTER: III

Sr. No.	Seat No.	Name	Progr	thon ammin g	Progr	thon ammin Pract.)		ata ctures	Stru	ata ctures act.)		puter vorks	Netv	puter vorks act.)		rating tems	Sys	rating tems act.)		olied matics	Progr	obile ammin actical	Total Marks	Sum CG	Credits Earned		Gr- ade
			IA 10/25	SEE 30/75	0/0	SEE 20/50	1A 10/25	SEE 30/75	1A 0/0	SEE 20/50	10/25	SEE 30/75	1A 0/0	SEE 20/50	100	SEE 30/75	1A 0/0	SEE 20/50	1A 10/25	SEE 30/75	IA 0/0	SEE 20/50					
34	SBSC T24066	SAHANI RAJ RAMESH PRABHAWATI	\$21	\$30		\$36	\$19	\$30		\$29	\$17	33		\$36	\$13	\$30		\$28	\$22	\$30		\$35	409	136	20.0	6.80	В
35	SBSC T24068	SALGAONKAR SOHAM JITENDRA JYOTI	\$17	\$34		\$24	\$21	\$30		\$30	\$12	\$30		\$25	\$11	\$30		\$20	\$17	30		\$23	354	106	20.0	5.30	С
36	SBSC T24072	SHAIKH FARDEEN MOHD HUSAIN MEHBOOB BEE	\$21	\$30		\$37	\$18	\$32		\$36	\$19	30		\$25	\$13	30		\$22	\$19	30		\$38	400	126	20.0	6.30	В
37	SBSC T24073	/ SHAIKH JUWAYRIYAH ABDUL RAFIQ RUBINA	\$24	\$30		\$27	\$20	\$30		\$21	\$16	30	1.7	\$25	\$11	\$30		\$26	\$19	30		\$40	379	116	20.0	5.80	С
38	SBSC T24083	/ SHARMA SHWETA SANTOSH MANITA	\$22	\$31	25 (2) (1)	\$26	\$15	\$30	0. 202	\$21	\$23	30	* b- *	\$41	\$12	\$30	- EG 5	\$22	\$20	13	fiz 785	\$21	357	98	18.0	100.1	F
39	SBSCiT24087	SURYAWANSHI RITESII PRASKASH SAVITA	\$23	43		\$36	\$20	\$30		\$40	\$18	\$30		\$33	\$14	\$30		\$27	\$19	2		\$20	385	120	18.0		F
40	SBSCIT24089	/ TANDEL JANHAVI BHAGVAN NIRMALA	\$25	\$30	:90	\$27	\$22	30		\$34	\$24	\$30		\$47	\$18	30		\$38	\$20	\$31		\$45	451	146	20.0	7.30) B+
41	SBSCIT24091	/ UDAIYAR SANDHYA ADHINARAYANAN BHARATI	\$18	\$30		\$48	\$12	\$30		\$24	\$24	\$34		\$45	\$18	\$30		\$23	\$17	35		\$39	427	132	20.0	6.60	В
42	SBSCIT24093	VASMANI ROHAN LAXMAN ARTI	\$23	30		\$45	\$18	30		\$35	\$18	\$30		\$26	\$13	\$30		\$32	\$16	30		\$44	420	136	20.0	6.80	В
43	SBSCIT24095	/ VISHWAKARMA MAHEK RAJENDRA LALLI	\$22	\$30		\$32	\$19	\$30		\$25	\$12	\$30		\$35	\$15	\$30		\$30	\$18	30		\$36	394	130	20.0	6.50	В
44	SBSCIT24097	WAGHMARE HARSHVARDHAN NAVNEET PUSHPALATA	\$23	\$30		\$37	\$23	\$30		\$34	\$20	\$30		\$42	\$18	\$30		\$27	\$22	30		\$35	431	142	20.0	7.10	B+
45	SBSCIT24098	; WASKAR MANSI DINESH DAMINI	\$23	\$33		\$37	\$22	\$30		\$35	\$22	\$34		\$36	\$14	\$30		\$47	\$21	34		\$20	438	144	20.0	7.20) B+
46	SBSCIT24100	/ YADAV KAJOL RAMBHAJAN GEETA	\$25	36		\$48	\$22	\$30		\$44	\$21	\$30		\$44	\$15	\$30		\$43	\$22	\$30		\$35	475	160	20.0	8.00	Α (

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (A.T.K.T. Exam.)

Repeater

PROGRAMME: Bachelor of Science (Information Technology) (B.Sc. (IT))

EXAMINATION: February - 2025

SEMESTER: III

																			uuij	202	_						111
Sr. No.	Seat No.	Name	1 '	rthon rammin g	Progr	thon rammin Pract.)		ata ctures	Stru	ata ctures act.)		puter vorks	Netv	puter vorks act.)		rating tems	Sys	rating tems act.)	App Mathe		Progr	obile ammin actical	Total Marks	Sum CG	Credits Earned	SGPA	Gr- ade
			IA 10/25	SEE 30/75	1A 0/0	SEE 20/50		SEE 30/75		SEE 20/50	- 12	SEE	IA	SEE	111	SEE	IA	SEE		SEE	IA	SEE					
			10/23	30113	0/6	20/30	10/23	30/73	0/0	20/50	10/25	30/75	0/0	20/50	10/25	30/75	0/0	20/50	10/25	30/75	0/0	20/50					
47		YADAV ROHAN RAJESH KUMAR RADHA	\$21	\$38		\$30	\$21	\$38		\$46	\$20	\$39		\$45	\$14	\$32		\$27	\$19	52		\$40	482	158	20.0	7.90	B+
48	SBSC T24106	YADAV VIRENDRA DEARMARAJ SAROJADEVI	\$16	\$34		\$46	\$21	\$45	-	\$25	\$15	49		\$30	\$12	\$38		\$37	\$20	\$30		\$20	438	142	20.0	7.10	B+
49		/ PATIL SHRAVANI SAHEBRAO SWATI	\$18	30		\$35	\$12	- \$30		\$21	\$12	30		\$37	\$17	\$30		\$27	\$17	31		\$28	375	116	20.0	5.80	С

I/c. FRINCIPAL

Valia C.L. Callege of Commerce & Valia L.C. College of Arts, Andheri (W-, Mumbai-400 053.

VALIA CHHAGANLAL LALJIBHAI COLLEGE OF COMMERCE & VALIA LILAVANTIBEN CHHAGANLAL COLLEGE OF ARTS

(Affiliated to University of Mumbai)

Cosmopolitan Education Society Road, D. N. Nagar, Andheri (W), Mumbai - 400 053, ANDHERI

Result Register (A.T.K.T. Exam.)

EXAMINATION: March - 2025

Repeater

SEMESTER: IV

PROGRAMME: Bachelor of Science (Information Technology) (B.Sc. (IT))

Sr. No.	Seat No.	Name	Core	Java	_	ore Pract.)	1	luction o edded		duction to eddea	Orie	puter ented istical	Orie	nputer ented istical	1	ware eering	Engin	tware eering(act.)	Grap	puter phics nd	Gra	puter phics nd	Total Marks		Credits Earned		Gr- ade
			IA 10/25	SEE 30/75	IA 0/0	SEE 20/50	IA 10/25	SEE 30/75	1A 0/0	SEE 20/50	IA 10/25	SEE 30/75	1A 0/0	SEE 20/50		SEE 30/75		SEE 20/50	IA 10/25	SEE 30/75	0/0	SEE 20/50					
1	SBSCIT22032	KHAN MOHSIN REHMAT PARVEENBEGUM	\$10	12	-	\$20	\$11	\$30		\$20	\$12	39		\$20	\$12	\$31		\$20	\$20	\$30		\$20	307	80	18.0		F
2	SBSCIT23015	CHAURE VINOD LAXMAN NAKUSHA	\$15	\$38		\$43	\$12	\$37		\$20	\$23	AB		\$35	\$21	\$41		\$40	\$22	\$30		\$45	422	136	18.0	. 11	F
3	SBSCIT23017	DALMEDA AARAV SURAJ FLAVIA	\$13	30		\$25	\$15	\$30		\$20	\$25	\$30		\$49	\$16	30		\$47	\$20	\$30		\$21	401	122	20.0	6.10	В
4	SBSCIT23020	DHANGAR HARISH SHIVALINGA SUJATA	\$13	\$34		\$23	\$12	\$46		\$25	\$24	42		\$20	\$25	\$32		\$36	\$19	\$43		\$28	422	132	20.0	6.60	В
5	SBSCIT23021	DHERE ARYAN MAHESH UMA	\$18	\$35	S V 22	\$43	\$17	\$36		\$30	\$22	14	15 16	\$30	\$19	\$30		\$20	\$19	\$30	S 151	\$25	388	116	18.0		F
6	SBSCIT23027	/ GUPTA PRIYANKA RAMPRAKASH GAYATRI	\$18	\$30		\$47	\$18	\$32		\$35	\$22	43		\$45	\$19	\$32		\$42	\$21	\$36		\$45	485	162	20.0	8.10	А
7	SBSCIT23039	KHAN ABDULLAH MOTIN AFSHANA	\$13 @	\$30		\$37	\$20	\$35		\$20	\$25	30	•	\$25	\$22	\$30		\$40	\$18	\$30		\$31	406	132	20.0	6.60	В
8	SBSCIT23050	MAHALE PAVAN RAMESH SEEMA	\$16	\$30		\$42	\$23	\$36		\$38	\$24	30		\$30	\$25	\$30		\$48	\$18	\$30		\$42	462	154	20.0	7.70	B+
9	SBSCIT23056	MANWAR RAVIKIRAN UTTAM PUSHPA	\$13	\$30		\$20	\$12	\$30		\$20	\$25	30		\$40	\$21	\$30		\$30	\$17	30		\$26	374	116	20.0	5.80	С
10	SBSCIT23068	/ QURESHI SAMIYA NIKHAT ISMAIL	\$20	30		\$42	\$23	30		\$38	\$24	43		\$42	\$25	30		\$50	\$22	30		\$46	495	164	20.0	8.20) A
11	SBSCIT23091	SHAIKH MOHAMMED FURKHAN IKRAMUDDIN RUKSANABAGUM	\$15	43		\$31	\$22	43		\$21	\$22	42		\$50	\$20	56		\$43	\$20	30	5 74	\$35	493	158	20.0	7.90	B+
12	SBSCIT23099	SHEIKH SHARIKH HAMIDULLA RIZWANA	\$15	\$30		\$35	\$12	\$37		\$21	\$21	38		\$40	\$19	\$33		\$23	\$14	\$37		\$20	395	122	20.0	6.10	В
13	SBSCIT23100	SHELIYA ZAQVAN NAIYUM ANISA	\$14	\$30		\$24	\$12	\$37		\$23	\$23	30		\$45	\$21	\$41		\$43	\$14	\$51		\$38	446	140	20.0	7.00	0 B+
14	SBSCIT23126	/ YADAV SURENDRA RAM NARAYAN INDRAWATI	\$14	\$30		\$26	\$12	\$30		\$22	\$25	43		\$20	\$20	\$30		\$35	\$20	\$34		\$20	381	110	20.0	5.50	0 C

 $F \ in \ front \ of \ marks \ indicates \ failure \ @ \ 5042/5043/5044, *5045, \#0.229, EX \ Exemption, \$ \ Carried \ Forward, F \ Failure \ (Exemption) \ Failure \ (Exempti$

BBan lekas